
1 
 

Manual A-Frame Display 

1x 

1x 

2x 

6x 2x 2x 2x 4x 

2x 2x (61cm) 

2x (87cm) 

4x  2x (100cm) 

1x 
 

2x 
 

1x  
 

2x  4x 2x 8x 



2 
 

14x M8 x 45  6x M8 x 50  4x M8 x 16  20x M8  20x M8  

 

Extra mounting hardware for A-Frame with roof or signholder 
2x  2x M8 x 90 4x M8 x 10 2x M8 

2x M8 2x  2x (55cm)  

1x* 2x** 1x set** 
 

1x* 

3x* 

2x* 

*: Only included with SKU I-5010-4030  
**: Only included with SKU I-5010-4040 



3 
 

! 

! ! 

Assembly 
1.  

2.  

3.  

37mm 

25mm 

M8 x 50 

Do not overtighten the bolts. Posts must be able to 
move. 



4 
 

4.  

Do not overtighten the bolts. Posts must be able to move. 
5.  

Do not overtighten the bolts. Posts must be able to move. 
6. 

Do not overtighten the bolts. Posts must be able to move. 

61cm 

M8 x 45 

M8 x 50 

M8 x 45 



5 
 

7.  

Do not overtighten the bolts. Posts must be able to move. 
 

A-Frame with roof or signholder? → continue on page 6 
8.  

Do not overtighten the bolts. Posts must be able to move. 
Continue on page 8, step 14 

M8 x 45 

M8 x 45 

M8 x 50 



6 
 

8.  

Do not overtighten the bolts. Posts must be able to move. 
9.  

10.  

For mounting of the signholder continue on page 8, step 11 

M8 x 45 

M8 x 50 



7 
 

11.  

12.  13.  

14. 

Continue on page 8, step 14 
 



8 
 

11.  12.  

13.  

14.  15.  



9 
 

16.  

17.  

 


